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2/ Since DPFT§af is }me.dinory andl ocded, % is real
and odd. > «xI[nl-: '7:[-11] for all N, When nso,
xJo] = ~xlol & xlol:=0.
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otherwise
bpe. ()= §(x) * U, (») where 24, 6= ,.‘?T.. SCx-nL).
Recall: 75 .S~ = i, .
Tih = T~ w, AW T @ - T,
TS F e ™ = [t &M s,
= FSifeef iz = TS,
From ©, ¥ §fef)= 580 = Ul . Thus, the
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. ?[-rpci is o weighted Jleliea Punclion ftrein where
each weiéH is the corresfoannCT value of dhe

F'our'\tr er;es Coe?'?ic'lel’\{:.

The ke 4o  this Pf‘ob,em ‘s {o Jook o1 +he
7
g\oec{-rum -?or very S"tor-'f Pcrioofs o? t‘.‘me,
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When You Lo TIA:J‘, ')’00“” ‘E}no! i’Lq‘l +the ke-ys
FrcSSC&Q art€

2-1-7-3-3-3~0-9-1- 6.
5/ &) y(-l)= A (S.(ﬂ*—i&(f\\.
) S )= 3Re§yt+)f. s;u\=-71~'57(1)§.

) The Signak can nol be recoverec.
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